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Topic:- Child Development & Pedagogy (CDP)

1) Claustrophobia is a fear of enclosed places. It is an example of : / Wﬁﬁﬁm Ty R &1 Th SN %I TIPT Uh 3IqIerur %:
1. Global Developmental delay / 3fRrer faera aF &

2. Obsessive-Compulsive Disorder/ SJfel-aregep T faep

3. Anxiety disorder / daa @R

4, Autism / 3ifes#

Correct Answer :-

« Anxiety disorder / ddd @R

2) In “heuristics,” the child is free to go for any kind of possible rules or ideas to reach the solution. This rule is called as:/ “WI':[MTﬁTﬁ e yomTett” ﬁ, T
T a9 Uga F o fplt of yer & wnnfaa fraw sryar R &Y weraar @ wea €, 39 o &1 a1 w1 o 82

1. rule of thumb/ IFHAAE FIH (¥ 3T I)
2. differentiated rule/ AT A=er

3. mimicking rule/ 3eJehI0T IGrEd

4. cognitive rule/ HATATCHS It

Correct Answer :-

« rule of thumb/ IFHATRNE I (¥l 3HTE o)

3) Which is not the step of scientific method? /

Frafafaa & & $9-a1 e yore &1 avor 78 §2

1. Experiment / W=1aT

2. Interview / HI&TTchIY

3. Prediction / q@THT

4. Observation / 37aclidhel

Correct Answer :-

o Interview / HI&TTcPR

4) According Jean Piaget, children develop abstract logic and reasoning skill during __ ./
e R & @R, ¥ ke qeat # anpd aF 3k aF whra Refaa o &
1. Concrete operational stage / Hd HRAATCHSD IaTAT

2. Formal operational stage / 3ftuarRes @frarcas 3raear

3. Preoperational stage / qd-@ftrarcas 3maeam

4. Sensorimotor stage / HIG W )FaIACI( IAEAT

Correct Answer :-

« Formal operational stage / 3U=Ties AfhdTcas fawar

5) A self - directed learning process is arguably the most powerful model for facilitating and inspiring individual, group and organizational learning and development. It means
learners /



s wa-fdfa sftew wfikn, afFaa, it sk wremens siftor sik Rew i glawr ig el aew aFaurh Atsa ¥ swe AdaT §
& srfeemsat _ |

1. take responsibility for learning and become goal oriented / 3AITH & FFFAERY o & 3R H&W AT &l
2. compete with others / q:FR’f & Y gfaeadt aar €l

3. achieve the best scores / 37TST URUTHA UTH &l %I

4. enjoy learning / 3TTAITH &7 3G o T&T &l

Correct Answer :-

« take responsibility for learning and become goal oriented / 3T Fr TFASRY o & 3R F«T&-’JTF@@ T B

6) In which stage of psychosocial development does the child feel shame and doubt? / ﬁ%ﬂm e & fog =@xor § 9= 31 I @R e He¥™ g %?
1. Preschool / YiEgel

2. Adolescent / ferNRTarEAT

3. School age / ¥l 3Tg
4. Early childhood / J&3TCAT aTeehTer

Correct Answer :-

« Preschool / Yol

7) Proper sex education should be rendered at ____ stage. /370 dlar fRyaw __ 3rgvyr W yeeT 1 SAE Gif@wl
1. Childhood / STegehTel

2. Adolescence / fopIRTaEAT

3. Adulthood / IIFH

4. Early childhood / URTH® sTedemrer

Correct Answer :-

« Adolescence / foReTRTaEAT

8) The ‘Hypothesis of Critical period’ was proposed by ./ ‘Fgcaqet aafer i aRwedr ¥ ganT yETaa v aTE of
1. Helen Keller / 1 hoolX

2. Noam Chomsky/ STe aieTahT

3. Bloomfield/ &Fjﬁcﬁ o34
4, Eric Lenneberg/ TR S=Taar

Correct Answer :-

o Eric Lenneberg/ T Y AddIT

9) Who is credited with the concept of Intelligence Quotient (IQ)? / gaj'?‘.r AT (1Q) Y 3raerom F71 4 R AT SITaT #?
1. Theodore Simon / AR RIETC)

2. Spearman / TIRRAT

3. Alfred Binet / 37e%hs oo

4. William Stern / faforas Tea

Correct Answer :-

. William Stern / Fafor—ra® TeaT



10) According to Piaget, intellectual growth occurs through adaptation to the world. This happens through: / Rarer & IR, mff iCEar:s gﬁ'ﬂT &
FIFeS & ATCAA § @aT ¢ T Frwd AmeId § @ 82

1. Absorption and Accommodation / 3TaRITTOT 3R gHST (TRIASeA)

2. Acquisition and Autocorrelation / TUTA 3R Tad: Tgaay

3. Assimilation and Accommodation / 3TcHHATCATT 3 THIA (THIASA)

4. Assimilation and Acclimatisation / STETEIEHRUT 3R HJj&p(’H

Correct Answer :-

« Assimilation and Accommodation / 3TcaHTCHIOT 3R HFSTT (THIASAA)

11) According to Albert Bandura, the process that is involved in acquisition, organization and use of information is called process. / 3TedE E§TI' *

AR, TE THAT S FE F JHfereor, Worsa AR 3wl F nfarer @ B 3@ WA FeT AT g
1. Cognitive / IJHTIH®

2. Affective / GHTAT

3. Self regulation/ ¥ gt

4. Motivation/ 9ROTr

Correct Answer :-

« Self regulation/ ¥ fezatet

12) What concept of conservation focuses on the amount of a substance that exists? / H&T0T & i &1 Rgeia B AleEr ward i 7 w R &2
1. Weight / asi

2. Area / &%l

3. Mass / gegdATd

4. Length / oam$

Correct Answer :-

¢ Mass / GIAH

13) What cognitive ability are children displaying when they attribute human-like qualities to objects? / ST HieT-Ht HAATCHS &TAT g2 W & o9 9
FEGIH F AT IO F FEOT FA 2

1. Egocentrism / 3&HT (FMATegsd)

2. Conservation / T&TOT
3. Animism / S{igdrg,
4. Object permanence/ d&q € B

Correct Answer :-

o Animism / S{ddrg

14) Some children experience excessive anxiety at being away from home, even after a long period of time. What might they be suffering from? / 3 T oS

AT TF WA QT WA F a6 off, W P & W I3cafs [Rar # e w3 ¢ 3 v & AT o g &2
1. School phobia / Tl HIfaAT

2. Social anxiety / @IS far

3. Conduct disorder / 3TaR0T fdhR

4. Separation anxiety / 3Tel9TIa &7 TidT

Correct Answer :-

« Separation anxiety / 3Te9Tg v fid



15) An example of self-report measures of personality is/ SqTFdea F HeA-NAE U FT T 3T §:
1. MMPI / THTATSTE

2. Sentence Completion Test / dTeF q;USf g&Tor

3. Rorschach Test / JraTer gdieTor

4. TAT / &y

Correct Answer :-

« MMPI / GHEHNE

16) Intense mood swing is a characteristic of / it 7z Feaar =1 1 wator &:
1. Learning disorder / 37fQaTe 37873

2. Bi-polar disorder / ﬁ'ﬂfﬁ' ipEary

3. Conduct disorder / 3TaRUTITd fadR

4. Anti-social personality / THTHITGIR cafthed

Correct Answer :-

« Bi-polar disorder/ﬁ"*'g?ﬂ JPR

17) Which of the following best describes Maturation of a learner? / RF=ifaf@a & ¥ a1 v Rrameft f aRuzFaar &1 Fa@ o1 qoia wwar &2
1. It is a continuous process of individual development/ IE ATBITT fadrT & T Tad ufshar &l

2. It is related with cognitive capabilities/ T& HATATCHD &AM T T gl

3. Specific environment is required/ fFIfIE ardT@ERoT Hr IMTLTRAT BT T

4. Tt takes place at specific age/ Ig Tafrg 3y F g 8l

Correct Answer :-

« Itis a continuous process of individual development/ I gfthard g & T Tad uftkar %’I

18) Which type of memory takes special account of context? / FE yeR @ Fﬂ'ﬁf weel 1 Ay e @ 82
1. Iconic memory / ufafa fa

2. Echoic memory / gfaeafa i

3. Episodic memory / 9r&fiies Ffa

4. Sensory memory / HAGT ﬁ{ﬁ

Correct Answer :-

« Episodic memory / WG Ffa

19) Students who disturb others in a classroom are likely to have type of learning style./ SIT ST H&T # w FY GATT FIS § 3T TR
YHR A @@ f Aot @ A werraan @ ¥

1. Kinesthetic/ IIfATAET (Preaedfes)
2. Tactile/ TULHNT (¢arerser)

3. Auditory/ HdoT

4. Visual / €T

Correct Answer :-

« Kinesthetic/ TMATAET (Praaedfes)

20) Who carried out an experiment on memory involving nonsense syllables? / @ Tfa W va water R, e awaw ersarer anfaer 32



1. Ebbinghaus / Tfeserara
2. Atkinson / Tefhaer

3. Posner / GRIeR

4. Calkins / @TIferd

Correct Answer :-

« Ebbinghaus / wfegeramd

21) Who proposed the concept of zone of proximal development? / fAFery AFE & &7 A HTUROT FT yFdd Faa w@r?
1. Abraham Maslow / 315 FTEET

2. Lev Vygotsky / o1d argaitcadhr

3. Carl Rogers / Prel AT

4. Albert Bandura / 3edc ET'U§T[

Correct Answer :-

« Lev Vygotsky / oI argailcaer

22) The spinal cord develops earlier to the heart. This is because of the operation of the following tendency. / g ¥ Es?f Feuik:) ‘I:é' Rl gl ¥ 37
BT ygfr & wares & FROT e

1. General to specific / GTHATT o e T

2. Cephalocaudal / fthaliesger

3. Proximodistal / AT

4. Part to whole / 11T & H’C{U‘f GEIRCI [ BieT)

Correct Answer :-

« Proximodistal / WA ST

23) The following is an example of a secondary reinforcer. / ﬁmﬁ@aaﬁ?ﬂumgammwm%l
1. Ice cream / 3T

2. Dress / q1Th

3. Money / 91

4. Juice / TH

Correct Answer :-

* Money / 49T

24) Maladjusted children are generally seen in / HTHTTI: m T T8l 3@ w9 §
1. Broken family / @y ofar &

2. Rural areas /mafior &=t &

3. None of these /3T & Eﬁé GE]
4. Poor family / g gRar &

Correct Answer :-

« Broken family / fa@y gfar #

25) One learns to use one’s muscles and acquires a skill due to: /

T gfFd, AR T 39AT w1 AEar § 3K 7S FROT TF wlere o Far ¢



1. Maturation /
RO

2. Exercise /
HE

3. Learning /
T

4. Parents’ force /
HIRATEDT HT AR

Correct Answer :-

¢ Maturation /

26) During the emergence of language, the ‘jargon’ period is present during / ST & 3T & NI, “Aregatrel AT A" 3afd 3@ el &l &
1. Nine months to one year / & g ¥ Th a§

2. Birth to three months / 3= & i AL

3. Three to six months / e & ©: FH

4, Six to nine months / &: ¥ Al FLA

Correct Answer :-

 Six to nine months / &: ¥ A FHA

7 During the first half of the 20th Century, ______ students, those identified as having special needs, received few or no special
services in the schools.20 / ft erATedl F Tg SARI Falrer,  a1al, [ ggare ey 3maeasdr @A ardl & &9
# #1 7¢ oft, 37 TRl A Fo A1 FS QAAY Ja1 ¢ A o

1. Above average / 3rad & 31fA®

2. Exceptional / 3THTYROT

3. Mentally retarded / ARG & ¥ g

4. Poor / TG

Correct Answer :-

« Exceptional / 3THTYROT

28) VARK model of student learning was proposed by: / BT 3If831 #T ai% HAisd 3% earT grarad far = o
1. Kohlberg / TigedT

2. Neil Fleming / &reT el faiaT

3. Piaget / foarat

4. E. Erikson / ¥, SRag

Correct Answer :-

« Neil Fleming / et wXfaiaT

29) Which of the following is the best way for parents to support and help children cope with failure? / AFIfaf@a # q Fia-ar HﬁT—ﬁHTE?RT
Foal & FEGAaT ¥ Aved # gAdT R 3R I Aeg A F T ST ST

1. Create a comforting environment for the child to engage in another activity to forget their failure / JAD! SIAHET B ’ﬁ[ﬁﬁ & foru = o) et o wifafafd & g s
?Q & SRMERS URIR &1 fufor B



2. Listen, empatbhize, then focus on opportunities to learn, not abilities / gel<TT, H%'Iag-;'ﬁ @, R drEa & 3aWT W ST digd ke, d 6
BTHAT3 WX

3. Create an environment for our kids that shelters them from potential failure or disappointment/S-TEI?T gt & T 0 gRaer &1 [Ar | S
Iee GHIAT 3rE®adT a1 AR § a9

4. Push kids beyond their capabilities / Sl T I TS T TR e AT G BT

Correct Answer :-

« Listen, empathize, then focus on opportunities to learn, not abilities / GeA<1T, HeTeg3ffad @1, R di@a & g W A1 Higa e, 7 &6
STHATIT W

30) Inquiry approach method develops the ability of learners for / T&dI® e fafy d ﬁT&I‘I‘fﬁ HfEF ﬁl‘l;' &HaT 31 faerg ﬁ?ﬁ %:
1. Using the experience of a teacher / Teh et & AT BT ST AT

2. Assimilating more information in less time / PH AT A 31T FATABRY P TcHIATT DT |

3. Experimentation / ST

4. Maximizing verbal Iearning/mmaﬁmmﬁm

Correct Answer :-

« Experimentation / OR=ANaT

Topic:- General Hindi (L1GH)

1) 3nyfie Fra & gt gfvar 3t srforawr R @ oo & I 58 7 99 Ifiwvur a1 elaesvE FEd 1 SereRur & R urgwite 31 e argwiee $1
TSHIER ARPT & 1 30 U F WIGRIR & $T 3 YRG 3R 37 B3 ¢ & 799 &1 AISHNITE & Airedsr g g # swura 6 i &1 sffysT &1 wid
TeT TS 3 ISV & Johdl 21 BIS B PR A | g7d] & 3R 7S A 711 PR AP F o #3320 7 w1l §1 39 3retrar 39 Sl & R afeq fsdt sy o &
Td g, Wi Iee frelt ofik A=1 ¥, rge, YR o fiRe et 3 31 # o91a 817 | R & arHer Taft Urd 3T SrenT 987 §RT BIS Hiek &) Iwig 54 o §, ot
Y NEHX BR T18 et 81 577 Tt frar-sramal & ot gfran & A9R & Sravr a1 819 1 599 ot gfran &Y arfarawr gunfaa ght 21 oma ot felt o Saure o
[T F IR F W APa & e Sare givar & fafim um & giar 81 339 Ry R 31 srforawursit § R ke &1 91 gar g1

A ARE 5 el SNt B P S HIaMT 21 TP Rl uge fdwed 811 b 3ruA 3 A € ST/ Haran 1 wiel sae! anTd it smutft| snrer faeey g i
I H B! foredt TV =1 & AT WY, W1 SAP! AN F AT 9% A1 ? 1 A oft o R fAwe oY gAft yRa, gafkm, 99 R agae § o= ara w9
FIAd IR SUAH § 3R 37 320 F Aolgy I W & i el € 1 39 SIS B AT B 8 9Tl € 3R FI B g GATDT 81T 81 SR G 31T BIS FRYE
i §, @ SUP $O UIE HARMAT 91 a9 99 81 €, WA YR & 97 g1 & 3R Aivedar 3fveT A amar @1 ifaw Ieurg 39 371 F 9+a1 @ SIgl 39 91 &1
21 10 TSR B TR S T TR F IR e A fH Iare &Y Wil o § 3R a8t 3/@ 7 & aRIaR Wud 819 FT TUTST Y, & FH1 B 391 Ao gem
%ﬁﬁaﬂ%qaﬂ%ﬁwmu@ﬁlﬁwﬁqﬁwﬂaﬁmﬁﬁaﬂwmﬁaﬁmmm%lm%ﬁvﬁﬁqaﬂwmmwiﬁuﬁfﬁweﬁqsﬁv
YR & TEa1 71 T/ F &Y off et arftres fsst amet @ 9% 397 & e qul I9RT Y AR sigTe el X At

IR TR BT UGB - YD T Y HT Ik IaTs |
T ATGHIAIFE F1 ACAT Fal §7

1. 3R

2. G

3. Wi
4, 3Talr

Correct Answer :-

2) nyfe ora A 7 g #t srferawT R avE 3w # 981 55 § S@ Aftevur a1 wiaarseine $Ed §1 ST ¥ R AISwiNTTe Y difg | aEmiaie o
TSP ARDT & 1 30 U F AR & FT 3 YRG 3R 37 F5 2 & 799 &1 AIgwNITe & Airedsr g g & swura fpd s &1 sfifvet &1 wid
HIeT TSP 3 ISV & Johdl 21 BIS B PR A | g7d] & 3R 7S # 711 PR 4P & o #2320 a0 w1l 1 39 3retrar 39 Sl & R afey fasdt sy qor &
TA g1, Wi Iee 5wl ok 371 &, wrge, Raw o R fdt o 31 & T 811 SR & aruer |aft U1 SrerT ST d8R §RT BIS Hiek & W 5 o €, R &
Y NEH BR T18 At 81 377 Wit frar-cramal & ot gfran & A9R & Sravr et 819 €1 399 ot gferan Y erdorawr gunfaa gt 21 ama ot felt o Saureg o
T F IR F W TPa & R Iare givar & fafim um & gia1 81 339 Ry R 31 srforaansii & weR ke s1 9 gar 81

A ifore i [Pt Sut S BIE S HIaHT 81 TP ford Ugan fadped gRm & 3ruA I & €1 17 Hearan S Sigl 59! anTd e a1 rTer fawey g i
I HH B fplt TV 21 & AT WY, WET 3P AN 4 AT 9% A1 § 7 A oft e g ey &) gAft yRa, gafkm, 99 R agaF § o= 9rd $9
PIIT W IuA § 3R 37 3= | Toigr off A i o1 €1 S99 ST F A HH B A1 @ SR FI B dgar AIET ghaT 81 SR 9 31T Pig FIeR
Ted §, O TP $B UIE HARNAT AT A5a § 99 g1 ¢, MAER YR § o1 81T @ 3R Aiveaar 3MieT A omar 1 3ifw Iaure 39 331 & awiem @ Sgl 39 =1 oI
B1 7 II9R B TR IS W TR F STETeR AeH! A [t Jaure ot Witg foram 2 ofR 98T 3/ 7 & SRIaR Wud g1 B TUTTHT g1, d HH- $1 o1 faemd sem
F R g 9 P15 i1 I US| 753 78 TR & 70 el B AR HIF 9] 9¢TS o APl 21 3 F SR H 3y 1 $a Smardt &1 v Durg e A ¢
YR A ¥ga1 31 B9 & < off et aiftres st Al B 9% 37 <) Hewayy! IRl @1 ToRsiee T8 w) awdt|



IR TR BT UGB -1 YD T Y $T IR garsu|

U= YT YT SUTG AT $H B P T 1 Helt 82
1. STl el & 3R A TET @ el Al gl §

2. Foregt Y S B ¥

3. % AT & ¥

4. UTET § FHSAAT A &

Correct Answer :-

3) enyfis w1 & gft girar 31 srdforavt foRT @R oo A T€ g3 € 89 afiavur a1 TlaengeiRH Hed & | SaTeRvl & R urgwiaie 31 fifvie | urgwTe 31
TSHIER ARPT & 1 30 U F AIGRIR & $T 3 YRG 3R 377 F5 ¢ & 799 &1 APt & Airedsr g g # swura fpd s &1 sfifvst &1 Bid
TeT TSP 3 ITEIVT 8 Johdl 21 BIS B PR A | g7d1 & 3R 7S A 711 PR 4P F o #2320 7 w1l &1 39 3retrar 39 Sl & R afey fasdt smy qr &
T g, Wi I frelt ofik 3= ¥, @rge, YR o fiRe Tt 3 31  o91a 81711 R & @ Taft Urd 3T SrenT 987 §RT BIS HieX &) I 54 o §, e v
Y NEHX SR T8 Wt 81 577 Tt frar-sramal & ot gfran & A9R & SravR et 819 €1 599 ot gfvan &Y ardforawr gunfaa gt 21 ama ot et o Saure o
[T F IR F W TPa & e Sare givar & fafim um & giar 81 339 Ry R 31 srforawansit # weR ket #1591 gar g1

A ARE 5 Rl SNt o) B S ST 21 TP R uge fdwed 811 b 3uA 3 A € ST/ Saran 1 el sae! anTd it smarft| snrer faeey g i
I H B! fopelt UV 1 & AT WY, W1 3P AN AT 9% A1 ? 1 A oft o @R fAwew o gAft yRa, gafkm, 99 @R agam § w2 ara w9
FIAd IR SUAH § 3R 37 320 F Aolgy M W & e ire € 1 39 SIS B ATd B 8 oTell € 3R FI Bl JgeR GATGT 81T 81 SR ST 31T BIS RIS
T §, A SUP O UIE HARMAT 91 a5a & 99 81 €, WA YR & 97 g1 & 3R Aitedar 3ffveT A amar #1 ifaw Ieurg 39 371 F a1 & SIgl 39 41 &1
B1 7 II9R B TR IS W TR F STETaR TeH! A fHdt Jaure ot Wig foram 2 ofR a8t 3/ 7 F SRIaR Wud g1 B TUTTHT g1, d HH-t $1 o1 e sgm
%ﬁﬁaﬂ%qaﬁ%ﬁwmu@ﬁlﬁwﬁqﬁwﬁaﬁmﬁﬁaﬂwmﬁaﬂmmm%lm%aﬁvﬁﬁqaﬁwmﬁmwiﬁuﬁﬁweﬁﬂaﬁv
YR & T5a1 71 T/ F &Y off et arftres faisst amet @ 9% 397 & W qul a9RY Y AR sigTe el X At

IR TR BT UGB - YD T U FT Ik IaTs |
UR: B8 PR BUT 307 AR UIH TH & RIF TR 1 82
1.3 & S

2. 37T-3el9T FAA

3.8

4.8

Correct Answer :-

o 37efIT-37eTdT TATA

4) 3y w1a A gf g 3 srdarawt Ry ave 3o A 9t g€ & 9 At a1 ieargeRe Bed 81 IeeRvl & R Argwiaite & difie argshiatee #1
TSP IARDT & 1 30 HU F WIHEIR & T 3 YRG 3R 37 B3 2 & T &1 AISHNITE & Airedsr g g § swura fpd o &1 sffvst o1 s
X U 3 ITEXVN & Jobdl 21 BIS B SN A9 | gd1 & 3R 495 A g1 PR A1 & ford &5 =0 7o 1ell 1 39 Sretrar 39 Hu-i & R afey fdt sy oo o
Td g, Wi Iee fpdt ofik 371 ¥, wrge, RaR o fiRe 35t 3/ 31 # 9910 817 | R & aruer @aft Urd 3T SrenT 987 §RT BIS Hiek &) Iwig 54 W §, o ue
Y PR SR 18 el 31 57 Tt Fpar-wamal ¥ gff gfrar & A9R & arawr der o &1 599 ot giivan o9t srdarawn wunfaa @1 31 amg o frelt o Seure o
T F IR § W GFa & Rt Sare givar & fafi urm & g1ar 81 39 fay R 31 srfogawumsit # R ke &1 91 ghar 21

A e 5 fopelt Uit B P S HearT 81 SHS Rl g fAwed 8N b 3ruq 31 § € S1H Hamn S Siel 3ae! anTd it amarft| 3nrer fawey g &
T HH F! freft VA 21 & FRarn WY, SIET S AN FU Al g7 9w R 1 A oft sl R fRwe @Y A yRa, gafr, D9 ok agam § v ara w9
FIAd IR IUAH § 3R 37 30 F Aolgy Y W & iy o1 € 1 39 SIS Bt A7 B 8 ST @ 3R F B g GATST 81T 81 SR G 3T HIS YR
Tl ¥, 1 SUF T U HARMT T a1ga H 99§ €, TR YRT § 91 )47 2 SR WivedaR Sfvest & mar 31 Sifor Seure 39 31 A S+l § et 39 a9 A
B 0 SR B TR S e IR F IR e A fhl 3are &Y Wil o § 3R 9t 3/ 7 & aRIaR Wud 819 3T TUTSHT Y, & $H1 &Y 91 o sem
F o P15 A PIg o1 g US| 5l 78 IR ® T2 el B AR FF A} 991S o Aol 21 3 F SR B fay A pa nardt &1 ue g fRww A ¢k
YRA F Tga1 31 ¥ ® S oft et aifires fasst ameedt ® 9% 39 ) Heyu SR B TeRaSETS A8l HY wahdl|

STYH T B Tgh< 19 YD Y T PT S« IagC|
T BIE 31 R 5 wew & a9t 2

1.oRE

2. aRyeT

3. 9etg

4. arfeferea

Correct Answer :-



5) Snyfies w1 & gf gfrar Y srdfogawt foRT @ oo A T g8 € S/ aftavur a1 TlaenseiR Hed | SaTeRvl ¥ R urgwiatee 3t fifvie | argwiNTee $1
TSP AARDT & 1 30 HU F WIGRIR & $T 3 YRG 3R 39 B3 ¢ & 799 &1 AISHNITE & Airedsr g g § swura fpd o &1 sffvsT &1 wid
TeT U 3 ITEIVT & Jobdl 21 BIS B PR A9 | g9d1 & 3R A9S A g1 PR AP & ford &3 3= 7 w1ell &1 39 3retrar 39 S & R afeq fasdt sy oo &
Td g, Wi Iee fpelt ofik 371 ¥, wrge, AR og iR 35t 3 31 #f 9910 8171 R & @ Taft Urd 3T 3renT 987 §RT BIS Hiek &) Iwig 54 o §, o ue
Y NEH PR T8 et 81 577 Tt frar-samal & ot gferan & I9R & SravR a1 819 &1 599 ot gferan &Y arefarawr gunfaa ghht 31 oma off et o Seure o
AT F IR § W APa & Rt Saare givar & fafi ur & giar 81 39 fay R 31 srforawursit § R fAfkar 1 91 ghar 21

A e b fhell Uit Bl P S HearT 81 SHSP Rl Uger fdwed 81 b 3ruq 31 § € BT/ Harr S Siel sa! anTd it 3marft| snrer fawey g i
I HH P! fredt A =1 & FRarn WY, WET SA@! AN F AT 97 A R 1 A oft s R e @Y g yRa, gafkm, 99 ok agam § v ara w9
FIAd IR AN § 3R 37 320 F Aolg o W & e o1 & 1 3O SIS B AT B 8 9T € 3R FI B g GATST 81T 81 SR G 3T BV RS
i §, A SUP $© I HARMT 91 arga ¥ 59 g1 €, MAWR YR & 977 g1 8 3R Aivedar et A amar @1 ifaw Ieurg 39 371 A 9+a1 @ SIgl 39 1 ST
21 7 T9IR B 9AT: IS IR IR F SUTeIaR Aed! A fhadt Scure &1 @die fora € ok 9gt 3@ 7 & SRIaR Wud g1 $ THIEAT 8, af R B (0T e 9o
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A Aifore fr fpaht Sut B PSS BT 81 TP fordl Ugan fadped 811 f 3raA 37 & € 1H Hearar S el 59! anTd e maft | rTer fawey g 6
I HW B! fpalt TN I F AT WY, W1 5P AN B AT | 9% A1 § 7 A1 oft e g ey &) gAft | yRa, gafkm, 99 R agaF § o= 9rd $9
PId W Iudsy & 3R 37 3= & Toigr o T F i o1 €1 S ST F A FH B AT @ SR I B dgar ATET ghaT 8| S 9 3T $Hig FIex
Tied §, A SUP O UIE HARMAT 91 a9 & 99 81 €, WA YRd § g1 81T & 3R AitedaR 3ffveT & 3imar 81 3ifaw Seurg 39 371 § a1 & S8l 39 =1 5In
F1 7 II9R P TR IS W TR F SATETaR IeH! A [t Jaure & Tig foram @ ofR 98T 3/ 7 & SR1aR WU g1 B TUTEHT g1, dl SH-t $1 391 fawmd sgm
%ﬁﬁﬁéqaﬁ%ﬁwm@m%@ﬁqﬁwﬁqﬁmﬁaﬁmmﬁﬂﬁaﬁMWm%lm%ﬁﬁﬁqaﬁwsﬂmwiﬁu@w#sﬁ?
YRA & Tgar 31 TX A ot ot et orftres 3 aredh @ 9% 37 &Y eyl IToRY B AeRaiETS T8 FR wwdl|

IUGT T HY UgaR A1 IR T U FT IR ag|

uR: Ot g it arforayt R v U # Tt g% 39 T bEd 82
1. FEHIT

2. FLHNIRIOT

3. ATSTERToT

4, Yo

Correct Answer :-

o dafreyor

16) &8 aw W RAT § ¥
T e Al it afyai?
e e & oo }

¥ 3ooad R i FRAT?
S W SITH ST A
Fi gowd § 4@ THTA?
T F A Al ¥ A

i grwa § A qHEE?
el T § Fi el
Y WX FT HA GAAT?
9edl W, Gl 9, FaTdeT
Rray g @ § A

T3 WR A @R

i gaft & 7z Jarelr?
aa 3uad # oem & ¥
et dareelr farel?
St g, 3 3| FUil &
JoTelt # ST WY o WF?
gerehr e R AR X
T W ST UF T 151
IUGFT JEIIT T TGH AT Y I T FeT FT Iea} Iaqsy
wee: WX H FY R & 30w i Fr q@r Gwar §?
1. 0T

2. {eldl

3. freTetar

4. eIl

Correct Answer :-

o

17) &8 urw o R & ¥
F e A A afzai?



i wa # fg o ¥

¥ 3ooad R AT FRAT?
S W STIH SAAT A
e gwwa § o e
AH F A a ¥ X

Tl gwea § 3 aHeA?
qeT T § F Siedr
A BT FT T GAAT?
Jedl W, Tl W, TerdeT
Ry ge @ § e
a2 A AT T@T ¥

#l gelt & a7 dare?
T 3qaeT H ofem & ¥
fraer daraelr farelt?
St g, g M Foit F
Jiorelt F SR EX o IWMF?
sy eem fow v #
3 W FRAT UF TS5
I94FT JEIIT FT TGHT AN @ A T FeA FT Ieal aaqsy
W FA F HAR Sed F W o FT FAT AT §7
LU uerd

2. Gl

3.98

4. ST |

Correct Answer :-

18) g0 @ W RET & ¥
I fFEa A fr wfza?
e v F Ay T
¥ Fooad R #i FRAT?
ST, @ SIHIT SAHT A
Fl guFa § A gHEA?
T F A Al F A
Flar grea § 3f aEeA?
T 4T § B el
YT B FHT HA GAAT?
Teal W, fel W, @@
Ry gv @ § amm
T FR A @R

T gl & 77 Jarelr?
aa 39T H e A ¥
e Qraraelt farei?
St g, 3o 3| FUi &
Il # IR W A AF?



geTehT AT o ARE =

1 W FRAT TF TS5

IULFT JEIIT FT TGH AT Y@ A T FeA FT Ieal aaqsy
Tt 3 & Wt W ATy S F41 FE aEr §?
1. ffar fergar

2. # Bgwar

3. @Il i

4. 3NHUT AT

Correct Answer :-

o Hfaar forgan

19) g0 o W RET & ¥

I fFua A fr afza?

e v # Ay T

¥ Fooad R A FRAT?

S W SITHT ST A

Fi gaFa § A THEA?

T F A Al & A

e gwa § 4 gweA?

T 4T § B el

S BT FT ST GAA?

geal W, el W, T@IewT

Ry go @ § awm

T FR A @R

T gl & 77 Jarel?

a9 H o A ¥

Fraa Qraraelt fare?

St g, o 3| FOi

Jiorelt F 5T WX o IME?

gareh e foRw o a0

T W HAdT 0F T 151

S9YFA TEHIA FY TG AN IF A aTd WA FT Iea} I3
W FIT T A AT AT IR Fr ARA FeF FA F1 AHT R @2
1. &aar & AR

2. Rl 3R

3. 7S hr 3R

4. gepfa &1 3R

Correct Answer :-

20) & o9 W R & §
F frwet Al i af3ai?
i ua # g T ¥

¥ Iooad R i FRAT?

ST § STEHT ST A



Fl gAFa § at gHEA?
AT F AR AR A A
Fha gwea § o aEeA?
eI A} F Sl
YA B FHT IR GAAT?
Jedil W, Tl W, TETIT
Ry gu @ § e

T AR A @ E

i gt & 77 farel?
I 39aeT # oom & ¥
raa Qraraelr fare?
St g, 3o i FO
STl # T W A IF?
goreht et o v &
1 W FHfaaT T qaTS|
SYYFA TEHA FY TGHT AN qF A a1 WA FT Iea} I3
TR YA B AN F WA F FleT e TAT §2
1.9R

2. Sitedr

3.1

4. TEET

Correct Answer :-

21) g o W RET & ¥
¥ fraer Al A afdai?
e wa & oo }

¥ Fooad R i FRAT?
S W STH SAHT A
Fi gowd § @ THTHA?
AN H AR AT A A

i grwa § A gAEE?
qCT T § e Sed
Y X FT AT GAEAT?
9ol W, Gl 9, gaTdT
Rray g @ § A
T3 TR FAT @Y

i gaft & 7z Jarel?
aa 3uad # oem & ¥
et dareelr farel?
St gan, 3 3| FU
JoTelt # ST WY o WF?
gerehl e v AR W
T W HfAdT UF T 151
IUGFT JEIIT T TGH AN Y& A T FeT FT Iea} aaqsy



weet: drraelt I # FAr §, AT Ffa A T q@Ew ga§ orael v @n?
159 & P A&

2. 3 W gIST 1 ol H TS @A
3. T DT HA TI;T

4. ®fq F AT ¢ T

Correct Answer :-

o N W G H RO H ges @R
22) g mw W R & ¥

I fraar Ay fr af3ar?

e wa & fr o d

¥ Fooad R i FRAT?

S W SITH ST A

i gowd § 9@ THTA?

A F AR TR ¥ X

T gada § ot gHeA?

T T § B el

A T FT T GAEAT?

9ol W, Fal 9, FardT

@y gu @ § A

T3 TR A @R

i gt & 7z Jarel?

ad 3qad F oem & ¥

e Qurael fAwre?

St g, s | FUil

el # ¥ W & AEF?

gerehl e o TR X

T W HiAdT 0F T 151

9T TEHIA F GG AT IF I T WA FT Iea} qAzCl
wee: e, el AR FeA-FeA W T @@ F A TH5R F F41 @y ge {2
1. THA

2. 9

3. 3

4. Iellsl

Correct Answer :-

23) & o W Raw & ¥
¥ fraer Al A afiai?

T T A A7 AR

¥ 3ovad XY 1 FRAT?

ST W STIH ST A

i aawa § 3t gEEA?

AH F A AR ¥ X

Fhe gwea § o aEeA?



T 4T § B el

YA WX F T GAMET?

geal W, el W, @I

Ry go @ § awm

T3 FR A @R

T gl & 77 Jarel?

aa 39 H o A ¥

e Qraraelt fare?

St g, 3 3| FOi

JioTelt 3 5T WX o IME?

gaeh e foRw o &

T W HAdT UF T 151

SUYFA TEHIA FY TgHT AN IF A T R FT Iea} I3
weaT: AT FOIT FT el oy & 0T FT FA Fa S ST °ARAT 82
L #

2 A

3.9m1 #

4.@a #H

Correct Answer :-

. WA

24) g0 o W T & §
¥ fraer Al i afidai?
i ua # fg =

¥ Iooad R A FRAT?
ST W STAH SAHT A
e gwwa § o e
AH F A AT ¥ A

Tl gwea § of aHeA?
qeT T § F Sied
YA BT FT IR GAAT?
Jedl W, Tl W, FerdT
Ry ge @ § amm

a2 gAY AT T@T ¥

T geft & 7 drareir?
T 3qael H ofem & ¥
rger daraelr farelt?
St g, g A Foit F
Jiorelt F SR EX o IMF?
sy eem fow o #
3 W FRAT UF TS5
SYYFA TEHA FY GGHT AN (F AT aT WA FT 3ca} IdAB0I
ee: HfF o N For B FA AT A FAT Fer 7
1. A Hr

2. Soodd 8RI &Y



3. Oeed T
4, @ &Y

Correct Answer :-

o Sooad ERI &

25) & o W Raw & ¥
¥ fraer Al A afiEi?
T T # g AT

¥ 3ovad IR AT FRAT?
ST W STIH AT A
i aawa § 9t gEEA?
AH FAE AT ¥ X

Fhe gwea § o aEeA?
e I § F el
A B FT IR GAAT?
Yedl W, FeAl W, TeTIT
Ry ge @ § amm

a2 T AT T@T ¥

i gt & 7z farel?
g 399 H o § ¥
raa Qe fare?
St @Y, & 3 FU A
ISl # W A WF?
gorehr e foRw o &
T W AT TF qATF|
SYYFA TEHA FY GGFT AN qF AT aTd WA FT Iea} I3
et gl g W Nw f §E B wg A Radh #2
1. AR

2.3

3. @

4. qud

Correct Answer :-

26) & @ W @R &
¥ fraer Al i afzai?
e v # Ay o
¥ Fooad XY #i FRAT?
S W SITHIT ST A
Fi gawa § A gHEEA?
T F A Al & A
Flar grea § o aEeA?
T 4T § B el
YA T FHT SR GATAT?
Tedl W, Al W, g



@y gu @ § A

T3 WR A @R

i gt & 7z Jarel?

ad 3qad F oem & ¥

e Qe fAwre?

St g, s 3| FUi

JioTelt # ST WY o WF?

gerehr e @ AR X

T W HiAdT UF T 151

9T TEHIT F GG AT IF I T WA FT Iea} qABCl
WRe: ‘ST AT fvw Ov@ #v # @ & F4r1 aread 87
1. GgATdeT

2. 3T

3. AT

4. QEeTr

Correct Answer :-

27) e o W AR &
I fraa At A w@REr
T T A A AT R

¥ Iooad R A FRA?
ST W STHT ST A
Fi gawa § A gHEA?
A F A AR A

e gwa § o e
e A} F Sl
YA B FHT IR GAAT?
Jedi W, Tl W, TETIT
Ry gu @ § amm

T AR T @ E

# @aft ¥ a5 darere

I 39ae & oom & ¥
raa Qraraelr farre?
St g, 3o I FO
ISl # T W A IF?
gt et o v &
1 W FHfadT T qATS|
SIYFA TEHA FY GGHT AN qF I T WA FT Iea} I3
W IS A BROE ggA W ;Y I3EET 95 e e TwEd §7
159 & P A&

2. 9y fY e

3. ETGHT P A

4, MY Fr e

Correct Answer :-



28) & o9 W v & §
¥ fraar A A afdai?
i ua & g T ¥

¥ 3ooad R HiT FRAT?
ST § STEH ST F
Fi gowd § @ THTA?
AN F AR A A A
Fla gwea § 3 aEeA?
qCT T § T Sed
Y WX FT HT GAET?
9edl W, Gl W, FoTIT
@Y ge @ § amm
T3 WR A @R

i gaft & 7 drarei?
o 39ad # ofem & ¥
raer daraelr farel?
St @, g 3w Fo @
Jiorelt # ST WY o WF?
gereht e @ AR X
T W ST UF T 15
IUGFT YT T TGH AN Y A T FeA FT Iea} aaqsy
woeT: FEl AT 9T A FF dFEt dv FeEwr gR-wa Rareh 7= @ §2
1. e R

2. ga-wfoeEt &

3. BR-3iaeT

4, grar-gefrat &
Correct Answer :-

o grr-gafat 7

29) &0 @ W RET & ¥
¥ fraer Al i afiai?
e W@ & oo
 3oaa Rt A1 FRAT?
S @ SITHT ST &
i gasa § 3t TEEA?
T F A Al & A
Fhe gwea ¥ o aEeA?
deT T § i Sied
YA B FHT IR GATAT?
Tedl W, Fal W, G
Ry gv @ § awm
T3 FA AT @R

i geft & 7z dareir?



T 39aeT # el & ¥

raer daraelr farelt?

S e, g 3w FOl B

ISl # W A WS

geTehT AT R ARE =

T W HRAAT TF FAF|

IULFT JEIIT T TGH AT Y@ A T FeA FT Iea} aaqmsy
weet: - u W AN A wfar e A ® Fer T §2
1. 309 @Y

2.9 & fomeot

3. a8 &1

4, 919 @l

Correct Answer :-

« 3 @B

30) &0 @ W RET & ¥
¥ fFEr A i Az
e v # Ay T

¥ Fooad R #i FRAT?
ST, @ SIHIT SAHT A
Fi aaFa § A gHEA?
T F A Al & A

e grea § 3 aEeA?
T T § B el
IS X FT SR GAA?
geal W, el W, @@
Ry go @ § amm

a2 WY Fr T@T ¥

Tl geft & 77 fareir?
aa 39T H o A ¥
e Qraraelt fare?
St g, o 3| FOi F
Jiorelt F ST WX o 3ME?
gaehr e foRw o &
& W FRAAT TF TS5
S9YFA TEHIA F TG AN YF AN T R FT Iea} dAB0I
YeeT: T F Aeg aRT T a¥E AW FH qHEA 82
L. gagua faw

2. GHCH

3. Urelga forw

4. e fow

Correct Answer :-

Topic:- General Sanskrit(L2GS)



Teg T

4

Correct Answer :-

2)
eIl fScar INfATCSeTT Iy YgHc FIId -
31T TR I AIAEATIARET |
SFEHAICd o STl Gaf FULH 72T ||
eI fhATY AT guli AAGTHFIATT Aol |
AT TegeT TN Sfera sfasiel coiaa ||
3 deddl {941 derega"Hq 3k Hafd|
1. D
2. © ik
3. At



eoliehl ufScar srenfafeseea Teaed YgHce’ Fad -

37eflcT I AT, FARMEATIAD |

SFEA o ST Gal FOULd J2T ||

HEITAd [RATT A gl AFGFIATY AeeRoig |
AT GeIT TN el sidsiel LT ||

cdf vg & afea |



UR=de afScdl Ueeed YGHcR FaAd -

TSI AR f&yd o ariorr 3fa uffed) e raA sifdera
Frefl, §aRE ar| IS gfaA afor RUSAET 5 9T FAfauriET|
W@wmﬁﬁmaﬁ|mﬂﬁw2ﬁ M| siegersar
IGIEGIE a@:aqjﬁaaﬁmﬂmﬁrl stﬂ?ﬁﬂ%m:
GEded| AT TN HIETEE  $edied| faeaarrer ufdd gavied
3099 facad| seanfa 3T sgfa donfeeufor o 3 @fed) qud T
ufdfes ATAVT: 37 3NTcT HoTach: [dedeaTEd IRTe=AT Hdfod |

5T DRI $TRAET U W= faegmhegs 3110 31|
HEIYATAIAAT: 3T Eel W fdegd| 37=can: gfosdar: a3t facer o
AT YTASST Felecl| 3Helch HGIIRWT: 37T 3T ATeTelle] weaded:,
FIHIAET gede TR S8R T fafgdded: | Ho0Edus=l I :,
IS §G:, SIIGIe: ASPAR:, TANAeG:, JAUIGN:, heaNaNT:, 38 °
d8d: TR 3T T T | AGTAGAATAI A HEATTA:
Teoqfacatacarer:, aepaiaeaideare:, ®reil-faeadis o A= Hd
faferserfa o= HecaT|

AaTeIaeTH 37T AT -

) q}—znﬂa?-gmr:

Correct Answer :-



oreft

4

Correct Answer :-



9ol ufscar sreanfafésesy ey ﬂaga;cdi qad -

37eficT I AT FARMMEATIAD |

SFEHAC o ST i FATH I ||

FHEITI ThATY AT GO AAGTFIATT A onTH |
AT G I TAON SforaT starstel qofie ||

ANIA: TAd EROH |



URTSE ufScar Yol YgdHc’ Faad -

YA ATdICTAAgS ATH Teh: RIRANIT: dTeehlel: Jadd| T: TEITA:
faferdcar eeTeaeT qeW: M| 9T I T SidTelelleitd Sied 3787
STATEXET AT A TaEWTAT eanffer Tagerstaar o Afger 3mdal Rar
STaTe T eI Teh UUsde Ueh o FHiedl fAolddlel] Td dled Uq
3t fgedrenTsi, JHiToTsAINT 3GNT o YIUcd fadlddiel| TR STare:
SToUsS UitTalssTad| ax &4 facarery srat femaesial aF o IRE
uedl Ireardl AR idfeided: | 379 o [AfeaagRar®uor areeplell &l
FIIANAT| TAET SNaered TJGATIOT 3TiTelleli HRIENSIT
ST | FIAIgEear Avorerecar fafdeseiasaes, Hefaar,
TICUAHFAT T 31 ATAET RO HEIAGY IReTfora: 3rerad) st
FARTCHRTE: TEfIST: 3TTHI| AT Fade FINAET TUATLAHAT
3THIC| 3T HETol AWeIseTac| A, fUd: garor g afvarhy,
HRAEAT-AYUTH- ST Tl i@ariel qedaerisl faeafasarasas)
¢R€2 A ¥ AT HRAGUH 3Thledded:| alg dIed STaRelTel:
HEHodCd: 3787dc| 38T HEIISaET RRIed: g&IUN0T 37dc| fohed

HifieT ¥ Shafd scgealicar @ SR $fde 3Ry wredars|

STaTg U 0T 3ATHeA-
. ITcATRET, RidAcere:
,  FEEETE faremEreea:
| Trfcaagte: quamEa:
, i fersie s

Correct Answer :-

CIECIERCL DR IR N T GO



sleaad

4.
Correct Answer :-

12) .
Yol afScar eNfATESerT Teaed YGHR FIId -

37l TR deTe] HEREATIARLT |
SFEHACd o STl Gaf FULH I ||

HEI T AT AT Ul AAGEFTATT Areeroiigs |
AT GEgeT TN elierT s7arsiel Lo ||

ST dIFT AARONTH |



TR=aE afScdr T AeHcH I -

dgeUEl: Aed T8Ud R GroNr sfd ufledA| 38T WA AU
Frefl, SERE arl I 9fdy Fo fGUSAET $F A9 sAfavrE)
aRURT Ueh Hgd, e add| 3ed AfgaAr @d: dfd) eerse
fAfAdr: ger: 3qgRT A gRIEd| AUHOIETE A T uGT:
CEdwl| SHAT I AHgedd  wudfed| faegary uidd gaviAfeed
304 fagzd| searfa 31T sgfa confeeufor @ 3 dfedl qud Fm=q
uiciea FMA0T: 377 T sToTach: TaRaRaey 3R Hfod |

5T AR RATT UG W= fdegmhegs 310 317Ed|
CIGATEATTAAT: AT GreT I fdead| 37car: qfvsarn: o fager =
T UfdSaT Foocl | 3elch HETRNT: 374G T FAlTS Srectaed:,
FFHIET fgede TaR 989R 9 fafgaasd: | FogdurEr @,
HITAI 9, STITCIre: USHIART:, THAG:, JeHIGNT:, SHIRGRT:, T
J8d: TR 31T 30T 37T | AGAAIGAATAA I FEATUd:
feeqlaraiaearer:, aepaiasaidegrod:, Hrefi-faeamds o A=
fafarserfer smevureaTfa Heca7|




eellenl Ufecar srenfaféseea vyeasy ?_Lagdgcdi I -
ST TS eaiaTaTdsT ha2l: I 8¢ |
e | o
I g HATICTTAT U8 T 418 T |
VFT Fol GHATTED El'c\’aqﬁ?raé?»ro |
dEATd Vo Ui fod T6 TSeiedvoT: |

HAGIET JolfdcH 3AfEd |

® eclit afsear renfafiscrr geted e gaad -
STeIfeeg fTdTcleT Sharel: Jid oe: |
H &d: AIfAeITT Ty T a8 T |
VFT ol FATSTEY dcelld J gorel |
aTATd Vo URifed 76 IS e yoT: |

371l UhRUT HAm: He: qc:x’j?fl

ST

3GIH€I'RTIT



STolcean

Correct Answer :-

eellent GfScdr reNfAfisera Teaed YGHe Fadd -

dwﬁrgﬁmd‘ﬂ L YA ©e: |
8 FATAcTT UH T T €8 T |
VFT Il AT aa’aqﬁﬂaéﬁo |

dEAT VT U Ted T¢ USeigdNoT: ||

PRI SIET TAIIGH SGHTE |
. i%f—\iﬁulz crc)

2. gc:
, WA



eallehl gfecar srenfaféseea yeasy gﬁgcdi g -

STeAfSeg AUl shael: gid 6e: |

T 8 AATdedIEl T T a3 T |
U ol THATSIEY cIeelld T oo |
dEAT VT URiEled T¢ USeigdNoT: ||

CFgH Ud uRrEfEd |

® ol gfscar senfafisesy yeaey YGHcN FaId -

37eficT I AT, FARMEATIAD |
SFEHACT o ST adi FALH T ||

FHEGTAI fhaATT AT Gl AAGEFIATY Aol |
AT GeIT TN SerT s1dstel ORI ||

TONIH’ 3T g Hafd|
I.Q =
5|

A

3.

2



o=

4. ~

Correct Answer :-

? ofede afscar weAEd AEHcH I -
AT ANAIATAEE ATH Ueh: FHIHIIT: rehlel: AT T: TEIT:
faferdcdr eaTeaRT qeW: M| 98T ¢ U9 SidTgelloitd Slod 3787dd|
STATEEd AT A TaERIAT aiffepr Taeerstaar o Afger 3mdql f&ar
SAATEIET e Ueh 9fUsdd Ush I HAledl odloiddlel] Td sy Ud
3718t fR=Eremsi, TSNl 3G3IST o YITued faelcdle]| STUTIETY Sare:
SToluseel UiUIalsstad| aF g facarery 3rat femaererdl aF o SRTx
dedl WrearEl R idfged: | 319 o fAfIcgagRa®qor arehrell #car
FIANHAT| TAET SNGeEd AJGATHOT 3eAlell HRIENSIT
SN Al-asde] | TaAIageear STl fafdusmaiasaes, Heiaar,
TICUANFT T 3T FHERT ARAET HEIoIY TREO: 3re7acy| 3t
HGTCANTY: TSy | AR T TARAET TAATETHA
3787ac]| 376! HEle S@RIsHAd| JHTcHSAT, U g=1for g3 ufdaria,
ARAEAT-AYUTH- S Tdfea@drfe qedeia faeafasaeasras]
¢Re dH ¥ AAGMAT: STRAGAH 3Tehlecided:| gl e STaReTd:
HETHodtc: 378Tdc| 3T FEIISTaET RNIed: FEGIINOT 377dc| foho]
e @ Shafd’ sgFalican @ sIRA sfdg@ 31eRde redars|

SATEET ATAT TaEWAT seeil -

) T TR

Correct Answer :-






IRTSS ISl TeAET qEHcR I -

YA ATdITAARS ATH Teh: FIRANIT: dTeehlel: Jadd| T: TEITA:
faferdcar ueaTeaed qeW: Al 9T I¢ T SidTelelloitd Siod 3787
STATEET AT A TaEWTAT anffidr Tacersraar o Afger 3mdq) far
STATe e T Teh UUsdH Ush o FHiedl fAlolddlel] Td dled Ug
3t feodTenTsl, JHToTsAIST 3GST o YIrucd fadlddiel| TR SareY:
STUSSY UTUIalssTad| a= & facarery 3rat fQemaesal aF o IREX
gedl JrearEl $TRd idfaged:| 319 o fafeaagRar&dor arehrell #fcan
FRIANAT| TAET SNaered TJGATHIOT 3iTelleli HRIENSIT

S asde]| FaAageear svorerecar fafduseidsrsaes, Heiaar,
TICANAFAT T I FHERT ARAET HEIoIY TReATOI: 3e7ac]| 3t
FRICHRTY: TEfasT: 3MHI| AT FadeFINAET TUAATUAHAT
377ac| 3Tl HETel SRgeplseTac| 3MTcHh, U Taror g3t aisarfa,
HRAEAT-AYUTH- ST Tl @il qedehriel faeafasarasaH)
¢€2 dH ¥ MATCMAT: $TRAGAH 3Thlecided: | gl dIeT STarelTd:
HETHodCd: 3787dc| 3T HEIHaET RRIed: gEIUN0T 37dc| fohod

PfIE & MNafa saFadcar @ R 3fery 3rug Jredar|

A TReSe TRt sfa yeA 3ifeAwaTel ggeaatea-



RS Ufdcar Teasd qgHc Faad -

AT HAldlellellg® ATH Teh: AT dlarhlel: Jadd| I: J&IAT:
fafrdcar eaTeaeT TeW: Il I8 ¢ U9 SidTeelloied Sod 37e7dd|
STATEET ATAT AT TTRAAT ATfHST TaGeUsTFar I Afgerm Al fUar
Stareey faremd weh uftsadq ue T Hiedl @Aifadan| v aedr wa
38T fReTenTsT, TSNl 36T o JIrucd 3faelcdiel| STHTNET Sarel:
gToussel Uftiarsstad| I & fagarey 3@t femseerdl 97 7 ST
gedl Weardl AR idfeded:| 3719 < [qfdlcaagRai®uor areehlell s{car
HAANAT| TAET SNaeled AJGATHITOT 3iTelleli HRENEAT
AT | FIAIgELaT svorerecar fafdersetidaeiees, eid,
TICASTFAT I 3l FHAEHT AR HEIAY IRAAOT: 377ac| 3@t
FETCARIEE: TEfersT: 3MHI| FAETHRNsT Fade AR TAATLHHAT
3787acl| 3TET HETel, AWeIseAad| 3TeHesha, U g=for g3 uf¥aray,
ANAEATANUTH- S el JEdhfal faeafasidreasias|
¢REQ TH Y AIAICRIAT $TRAGH 3Tehledded:| Qg dIgd Saralrd:
FETHeC: 3T8Tac| 3T FETIaEy RIec: FEIRIOT 3737ac| fohe]
HITIET & Safd’ ScgFalicdr | R $idgd 37U gredars |

STaTeREd U giea: o -

, TereT

Correct Answer :-



dc9oy:

4. =

Correct Answer :-

® et afsear senfAfiscrr Teted el qaad -
EEIECADRICEETNM UL Rz
& FATHCITAT T T 9oy 1|
VT Sl TATSIEY cIcelid T geer |
aTATT VT yeiEafed ¢ Tsefed ™o ||

fegmenRtefer g Jar ywred

1.
iercled

2.

5 SHHA:

d>de1ar

4.

Correct Answer :-

| ShHART:



uRed afScar T AGHR A -

aToR: Al fud AR GRorr sfa ufagdA| 3 3AHA AT
Hrefl, FARY dTl ST Gfad Pl faUeAET $¥ Al stfaurdE
IR Teh #Hgd dId¥d=l dad| 367 Afear @d: ) seperser
fAfAdT: e YgART M uRIfed| AfOIHROIPEE g =T G
SEded| ARG IR HETeEH  $Udiocd| faeaerrey gfad gavied
3049 faggd| arfa 3T sgfa qaafeeion o 39 dfedl qud T
ufdfes RO 37T IPIT $797ad: faRIATTT IRTAT Hdfed |

5T AT ARAET UG Qe facarhega 3 31|
HEIIATEATTTAT: AT GTeT I fdead| 37car: qiusdar: ¢ef fager
T ufasar dsfed| 399 HETGET: 373G 3T AT uredded:,
Fahrale [agede TR TR T [afgdasd: | $UEIUR—E! SE:,
Tl 9, STITCIre: SHIART:, THAG:, gmﬂqlﬁ:, HERGHE:, A T
Jgd: TR 317 30T 398 | AGAAIGTHTd sl FEATUA:
fRegiaeafacarers:, HEpdideaiacrery:, HRl-fAeardis T A= Fd
faferserfar serSure=IfT decaa|

Hdl: TFOT aET 3R ?
_ Ioe-g16eT:

3T

, &

4 §- I

Correct Answer :-



aRToe afScdr 99T qEHcR T -

AT ATATATIAEE ATH Ueh: FIANIT: qiaFhlel: AT T: TEIT:
faferdedr gegaed gew: | 9T I Ud STamglcloy Sied 3e7dd|
STATEE T ATAT AT TaERTT enffier Tacerrsar T Afgem 3mdal far
ATy fAgmee veh ufisad U 9 HAledl [@difoiddle| Td aed Ud
3Tt fRwEremTsl, TN 3G o Farued faeadle]| STHTRIET Sare}:
STausey ftialsstad| aF & fAegrerd srat fagmeestal a7 g R
gedl Ireardl SIRA Sfdfaged:| 379 o fafcgageraaor areehrell s{car
FIIAREAT| T STeTEd TJEATNIOT HTelledl HRESIT

A Alea9ds]| FTATGEEAT ATl fafderfetidaateeis, el
TICAHFAT T 318 FATATT AT ATTAGY IR0 373ac| 34t
HETCHATIE: TEisT: 3| HATHAINST FadeAARTET TAATLTTHAT
3787ac]| 316 ABle] SgeplsHdd| 3fcAme, U g=1for = 9f¥afa,
ARAEIAYH- S Tt @dia Gl faeafdsdeaside|
¢RE TH aY UATCIAT, ARAGRH, 3Thlecided: | Gl dIgd STaRerd:
FABTH-C: 3787 3T AGTIATTET RRTec: FEIXINOT 37e7dc| oo

HIET ¥ Slafd’ ScgFalicar ¥ AR Sidg 3{AUE Sredars |

TARY TRl TN STATgIelelsl ATdaldl-

, =



URTBE Uidcal Tl AgHcel Jadd -

FGEUEn: 72 fad 9 ‘qrorer sfa uffedA| a3 sifeume
Fl, SARE dTl ISR giad Fel fAUSART 57 Ay st
Wﬂﬁwmeﬁvﬁmaﬁmmﬂ%mﬁ M) seperser
fAffarn: oer: 3YgAT Al uRATed | AOTRTOIEREE g JE LT
GEdedl| SHAG I AgsiEd  deried | faedsrae ufad gaviafeey
3749 faggd| wana 3T sgfa qaafeior o 3 dfedl qud Tameq
vfdies AMAVT: 3 INTCT oTacl: [aedeaTEd IRTAT FHfoc |

5T AASRT TRATT 9Rg JUd= faegmhega 31T 31fed|
I AT el GFT faegd| 3rcam: gfvsdan: ¢ef fager =
I Uil T | 3elch HEIINT: 37T T AlTele] Srectded:,
IR Fgede TR Y8R o fafgdded: | SHoedur=r A,
HITAT, 95, ST USHIANY:, JTHeG:, gmﬂw FARGE:, 3 T
989: ATOET: AT T T | AGAAIGAATId R FedTud:
feegiaeaideare:, Gepdiaeaidegre:, Hrell-laeadis o AT Hd
fafarserfar strervoreaTfa decaa|

3IATET Regiasafdegroaey Famms: -



TRede fdcar ge=ed AgFHcc I -

3IEToR: ALY fUd IR IR sfd ufdgdA| 39 3ARHA AT
$rell, SEIRE Tl I UfdT Fol fRUSART 5T AR AT
Wﬂﬂwmé’rﬂ?ﬂmaﬁmmﬁ%mzﬁ M| 3fearset
fAffar: agn: 3qdAT e urAfcd| AfORTieEE gqud e
CEded| AT 9N HETedd  $udiod| faeaenery ufed gavmfeal
3049 faggd| ana 3T sgfa qaafeeior o 39 Fiedl qud g
ufdfesT RO 3T IRICT 797ad: fGRARTTET JRTErAT Fdfed |

5T AN HRAET UG Wi faearhega 3 31fed|
HEAGATEATTAAT: AT Gre YOI fdegd| 3car: qfusdar: ogr fager =@
AT UTdSal ofsfed | 3Tadah HETTET: 33T 3T AT uredded:,
TIHRIEAT FAGIedlaAl T 98- < fafgdded: | HSoedurae «ame:,
AT G2, STIEIE: USHAT:, JHAG:, JerHIer:, hRar:, I T
9gd: 3R 31 30T 3{a8e| HAGTHAIgAATd e HEATI:
feqiaealderer:, SEpdiasaidedrerd:, wrRil-faeardic o AT S
faferserfsr mervurea=e Heca |

' Fgd: 3T 3T 3T a8 31 PeodueHEd -
I=E]
2. o

HETeT

=T

4.

3.

Correct Answer :-



Correct Answer :-

Topic:- Mathematics (MAT)

1) Which one of the following statements is true about integer? /

FrafafEd ¥ @ S19-1 $3= e & 6y § 99 22

1. On multiplying any integer with 0, we get 1. / 0 % 1Y fit +ff quifes Y oM A WR, &F 1 U el B

2. On multiplying any integer with its multiplicative identity, we get 1. / &Y 8t quiies @1 3@®H IUNCHS TcHAD & Y IOT L W, & 1 UE @il gl
3. For every integer, 0 is the additive inverse. / Ucd® quiis & forw, 0 veh AeMeasd gfaad &

4. On dividing any integer except 0 by its additive inverse, we get-1. / 0 @I DIz forell off quiier A 3TF AMcAD Uidad T AT A W, gef -1 uE@ @ar
gl

Correct Answer :-

« On dividing any integer except 0 by its additive inverse, we get-1. / O @I BizaR R o1 quites & 3a% AeTcAsd vfaas F e & w, & -1 od gar
2l

2) If an amount of Rs. 1368 is distributed amongst 24 persons, then what is the amount that each person gets? /
I 1368 TUA Tt YFRIT 24 A & i faafva ot s 3, @ e safea o frat afn forercdt 82

1. Rs. 122 7 122 TUU

2. Rs. 53 7 53 Tuv

3. Rs. 153 7/ 153 ¥Uuw

4. Rs. 57 7 57 ¥UuU€

Correct Answer :-

e Rs.57 s/ 57 ¥qU

3) Afigure on a graph sheet covers 12 fully filled squares and 7 half filled squares. Find the total area. /

T I Mt TR TH ATHST 12 T & Tt g A HRaT § SR 7 a1 1 3141 WRel ¥ | o &A% F1d B
. 9% sq units / 9%63”[ EHE

, 13 L sq units / 13 2ot g
X 152 sq units / 15 2 aef sorg
4. 19 sq units / 19 T ZHS
Correct Answer :-

152 sq units / 15 >aef g

4) A floor 4 m long and 3 m wide is covered with square tiles of colour blue, green and red. One-fourth of the floor is covered with blue tiles of side 10
cm. Another one-fourth of floor is covered with green tile of sides 15 cm. The remaining area is covered with red tile of sides 20 cm. Find the number of
blue and red tiles used. /

4 e dan 3R 3 Tiex 9eT Ue WXl 19, 8 3R a1d W1 & TPR ergal A edT §31 8 1 BRI BT U 9IUTE W 10 At &t oo aral Ntk ergal & ot gan 81 =i &1
wgaﬁuﬁmﬁ@ﬂaﬁwaﬁawaﬁmﬁ%mgm%lﬁwahzo#ﬂ#ummﬁmmﬁ%mg&n%lwmw:ﬁaeﬁ?mmﬁa&m
EUCK ]

1. Blue =300, red = 150 /



el = 300, o = 150
2. Blue = 300, red = 200 /
el = 300, @ = 200
3. Blue = 150, red =300 /
el = 150, &l = 300
4. Blue = 150, red = 200 /
el = 150, &l = 200
Correct Answer :-
« Blue =300, red=150 /
el = 300, @ = 150

5) Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages will give Rajeev’s age. Suma is 5 years older than Rajeev. What will
be the age of Suma after 3 years? /

g, Ae 3R IH FT 3G R 10, 6 3R 13 T1 ITPT MY BT T ISl Pt MY 81 AT, TSa A 5 99 ST 1 3 6T a1g AT B 31y et ghftz

Correct Answer :-
o 37

6) Another name for Formalism is ./
TREUATE (WTHfere) F R1e 3mr Am B
1. Abstractionism / 30T (Yeegarerfasta)

2. Deductivism / fSsfarefasa

3. Logicism / AhafeehaTiotddre (eiforihes)

4. Induction / SR

Correct Answer :-

« Deductivism / BefFefdea

7) If the radius and height of a cylinder are in the ratio 5:7 and its volume is 550 cubic m, thenitsradiusis_____ ./
Tfe U Aa F Breur au1 FA1E $1 U 5:7 § TUT SHBT ST 550 T HieR B, oY st Bean |

1. 6cm/ 6 QAT

2. 7em/ 7 WA

3. 5cm/ 5 ¥

4, 45cm/ 4.5 @A

Correct Answer :-

=x2+ax+b

8) If the zeros of the polynomial p(x) are -2 and -3 then % and b are: /

qﬁmp(x}=x2+ax+ bWW'Z 3R -3 %,Eﬁ'alzﬂ'b?:

1.5&-6/5Td -6



2.5&6/5Wd 6
3.5&6/-5Td 6
4,-5&-6/-5Td -6
Correct Answer :-
e 5&6/5Td 6

9) Which of the following explains the commutative property?/
FraferfEa ¥ @ F19-a1 spafafrig o #) aren e 82

1. 103 +(25-35)=(103 +25) - 35

2. (ath) = (b+a)

3.35-22=(22-35)

4. a(b+c) = ab+ac

Correct Answer :-
* (atb)=(bta)

10) Which one of the following statements is correct about number? /
Frafafed & & $19-9 $37 Sen F 6dy § 9 8?2

1. Every number is a factor of one. / Ui T U &I U gidl g

2. 2 is the only odd prime number. / 2 THHTT faww srvreg W%I

3. 2 is the smallest prime number. / 2 TI& B AT TEAT &

4, One is a prime number. / 1 T YT T %I

Correct Answer :-

« 2is the smallest prime number. / 2 Tg B JHST TEAT ¢

11) A frog falls into a well of 12 meter depth. It tries to jump out. Each times it jumps up it jumps as high as 3 meter but slides down 2 meter because of
slippery wall of the well. In how many jumps will the frog reach out of the well? /

T Hed 12 e TeX TP 3T # FRar 81 98 a1ex e 9 IR o¥ar ¢ | Td® IR od I8 Fadl ¢ af Ig 3 Hiex SR Ugd 91l ¢ qfd S & fewer areft
AR F PR 2 Wex == fraa o1ar 81 $U @ 916w e F e Hew & fHa-il IR Bear u3m?

12) 14 ALMN 2M=70° and LM=NM. Then ~N= /

ALMN &, #M=70°Td LM=NM g, al 2N=

Correct Answer :-



13)  Which of the following is not the solution of the equation y=%.+5'? !

ﬁlﬁﬁ'@ﬁﬁ@fﬁﬁﬂ'—ﬂTWng+5HEﬂﬂﬁ§?
1. (4,19)
2. (-6,-16)
3. (-12,-37)
4.(-8,23)

Correct Answer :-

14) Ifz+%=ﬂandax—by=az— b? thenx &y =2 /
'ﬂﬁg+%=0(’ﬁax—by=a:— bz'a,(_-ﬂ'xt'a_’y=?

_alia""+b") = b(and- b"‘)

1 al-b? a?-b?
_afa®-b*  bb?-a?)
T aT+bR wH= a*+b*
2.

3. x= a(a2+b?), y = b(a%-b?)
4. x=a, y=b
Correct Answer :-

- ala?-b?) = b(b?-a?)

a?+hb? w¥E= a®+b?
15 :
) Ifx+i=Zthenthevalueofx—}l—cls:.-'
afe x+i=28% @ -1 @ AR &
x x
1.2
2.0
3.-3
4, -1

16) Ty angle which is 24° less than its complement is: /
TE HIUT AT HTeT THGRE T 24° FA o

1 57°

5 47

33e°



24e
4 24

Correct Answer :-

17) Find the number of line segments required to make a honey comb structure with 20

compartments arranged linearly? /

I@F §7 F cHafeud 20 FISel arell Uk AU WA g9 & O 9dh
Y@rEst & JEdT A w2

1. 100
2. 105
3. 101

4. 120

Correct Answer :-
« 101

18) ? ”q and [ be the transversal. £1=61° then £2=7/

p ||lg T v 5w X@T 81 21=61° §, 4T £2=7

61°
118°
60°

o
4 119

Correct Answer :-

119

19) Iy a parallelogram ABCD if ~ CDB=45° and » DAB=65°, then ~CBD =7/
UF AW agssl ABCD #, afg ~cDB=45° 3R ~DAB=65°%, T £CBD =2

1+
4 70

Correct Answer :-



20) A number ‘a” divides 1320 and 781 exactly. Given a1, then the number “a’ is not a factor of

W,
TE [T 2 1320 3R 781 @ quien Renfora et 81 221 T wmam B, A s o

T ges T B
1. 2101
2. Itself / T
3.539

4. 125

Correct Answer :-

21) Ip atriangle ABC if 2ZCAB=70°, and AB=AC then #B and 2C are /
U TAfeT ABCH, ITg £CAB=70° 3R AB=ACR, o «B3R 2C§:

80°, 80°
55°, 80°
550,557
4 200, 80°

Correct Answer :-

22) Ifthe sum and product of whose zeroes are 2 and —% . then the quadratic polynomialis ./
afg @r 3R 30E T T PR 2wd -2 B, gfaEd gug el

1, 5% —10x—3

5 5x?+10x +3

3, 5x?+10x -3

4.x2—10x+3

Correct Answer :-

23) | R, N Jafe 246 -2 E];I T x=

3-9%x 3 3—9% 3

1.2

2.1

3.3

4.4

Correct Answer :-



24) Choose the number divisible by 9. /
9 | fyuiiora g9 arell W& &1 999 $¥ |
1. 9987123
2. 3425816
3. 6789548

4. 4536279

Correct Answer :-

e 4536279

25) Find the value of m, if one zero of the polynomial (m? +4)x? + 65x + 4m is the reciprocal of the other: /
afy ggug (m” + Hx? +65% +4m o1 g =1 3T BT HHH B, A m BT A T PR

1. \-'I'E

— 43 29
26) Find the value of m if (x-1) is a factor of plx) = x* +6x 2x—5m. /

gfy P¥) = 2% + 657 — 22 — SM gy g (x-1) 2, @ m BT A FIA B

27) Find the whole numbers. / {UTWT T |

16 x 8725 x 625
1. 87,389,600
2. 87,250,000
3. 83,760,000

4. 87,110,000

Correct Answer :-

« 87,250,000

28) James is inside an aeroplane flying at a height of 7000 meter above the sea which is below sea level at a level. At a particular point, it is exactly
above a submarine depth of 1/ 6t the height of plane. What is the vertical distance between James and the submarine? /

R TP FATSWETS & 3e¥ § o Y ad | 7000 Hex F Ha15 W I @1 81 U@ 99 g W, 98 0@ gl & Si9 SR & ol garswie™ & 1/6 HaT5
Rt ws ad & R ¥ 9w U9 wige & A SHeafer g fhat 82

1. 8333.33 meter / 8333.33 #IX

2. 9166.66 meter / 9166.66 e



3. 9333.33 meter / 9333.33 #HeX

4. 8166.66 meter / 8166.66 HeX

Correct Answer :-
e 8166.66 meter / 8166.66 HeX

29) Anil is 6 years older than Akhil. Akhil is 36 months younger than Vijay. If Vijay’s age is taken as y, then age of Anil is: /
e g ufFa & 6 af 7e1 81 3if%a omg ¥ fae & 36 wEH ©ier 81 ufs fava #Y ey y ¥ =0 ¥ off St €, o aifvar &Y ey @:
1. 6(y-36)

2. 6+(y-3)

3. 6+(y-36)

4. (y+6)

Correct Answer :-

30) If 76x — 189y = -37 & -189x + 76y = -302, then find the value of x and y. /
Tfg 76x — 189y = -37 T4 -189x + 76y = -302 §, dl x Td y & WM [ B
1.x=-2,y=-1

2.x=-2,y=1

3.x=2,y=1

4.x=2,y=-1

Correct Answer :-

31) ‘Mahabhaskariya’ an astronomical work completed in eighteenth century is written by: /
HRTHRST’ SreTed! Rraredt & guf farar wan ues @wies & § ot R feran mar @1
1. Aryabhata - 11 /311'334@ - 1l

2. Sridhara / #1%R

3. Bhaskar Acharya / {T¥hI TR

4. Ramanujan / JTHTF ST

Correct Answer :-
« Sridhara / #T&R

32) are related to growing plants. /
__ Sed i HER@ E

1. Natural numbers / Cﬂ?{?ﬁ?ﬁ &I

2. Real numbers / aTETIH TEIATT

3. Fibonacci numbers / fraleehy Heama

4, Rational numbers / TR&AT F&I@

Correct Answer :-

« Fibonacci numbers / RpaleidhT &

33) The length and breadth of a cuboid is 12 cm and 9 cm respectively. If the total surface area of the cuboid is 678 cm?2, then the height of the cuboid
is: /



TH THTH F} a1 R DTS HART: 12 At ok 9 Wit B1 Al o=y o1 pat uia dAwd 678 A2 R, oY oY &Y ST #:
1. 15cm/ 15 @30

2. 11cem/ 11 J3f

3.6cm/ 6 THT

4,21 cm/21 @3

Correct Answer :-
e 1lcm/ 11 §3Y

34) The sequence of steps for mathematical modelling is:
1) Understand the problem.

2) Mathematical description and formulation.

3) Solving mathematical problem.

4) Interpreting the problem and validating.

| TR yfeRer (ATsfiiT) & RRIg =Rl #1 /gy &:
1) U /U B US|

2) TR faror 3R GEHiw

3) T U/ THATS BT JHTYT HATI

4) U/ T Bt AT AT 3R ARG ST
1.3,2,1,4

2.1,4,3,2

3.2,1,3,4

4.1,2,34

Correct Answer :-

35) The main body of the lesson plan is based on the Herbartian principle of: /
TS TSI BT T HIT ¥ g Rria R st 31

1. Presentation / Cﬂﬁﬁ

2. Conclusion / ey

3. Introduction / TR=TT

4, Association & Generalization / e 3R grE=EIoT

Correct Answer :-
« Association & Generalization / Tf& 3R re==fIenor

39y3(50v2 — 98) + 26y 3(5y + 7

36) Simplify:- )/

T 39y3(50v% —98) + 26v2(5v + ?)
1. 2y(5y-7)

2. 3y(5y+7)

3 3Gy -7)

4 2vGy+7)
Correct Answer :-

. 3Gy =7

37) Two triangles ABC and DEF are similar and the ratio of their areas is 25:9, then the ratio of their corresponding sides is.

3 fIYST ABC Td DEF WHT § a1 §9% &% d &1 3UTd 25:9 g, ol 37! I Yoiei &1 3gurd Bl




1. 4:5

2. 53

3. 35

4. 5:4

Correct Answer :-

e 53

38) If mean and mode of a data are 11 and 8 respectively, then median=____. /
R v e F AT AR wges Fow 11 awm 8 § A AfEaw = R
1. 10

2. 11

3.8

4. 12

Correct Answer :-

39) In a parallelogram ABCD, DC = 16 cm. If the altitude corresponding to the sides AB and AD are respectively 8 cm and 10 cm, then AD=___.
/

F FAER TG ABCD #, DC = 16 ¥+t 31 A Worar ¢ AB U1 AD &Y F=§ Fover: 8 Wbt aum 10 @ ¥, AD=__ |
1.16cm / 16 QA

2.12.5cm / 12.5 T

3.12cm / 12 @&

4,12.8cm / 12.8 @3

Correct Answer :-

e 12.8cm / 12.8 ®

40) The mean of 25 observations is 36. If the mean of the first 13 observations is 32 and that of the last 13 observations is 39, the 13t observation

is: /
25 W&TOif T ATET 36 ¥ AT 9ger 13 WaTUil T ATET 32 UL ifaw 13 W&ol 1 Aey 39 &, ar 13af Yayor &:

1.22

41) What is the ratio in which the join of A(-4,3) and B(2,-6) divided by the y-axis? /

TF AT F4T 8§, oA g A(-4,3) T B(2,-6) F Framer arel Y@ y-aret @ fenfaa ekl 82
1. 1:4

2.2:1

3.1:2

4. 4:1



Correct Answer :-

42) Construction of altars for the sacrifice, applying geometrical facts to perform duties by fixing east-west was assigned to the ./

afee & fav aRat &1 fasfor F1, gd- ofes #t R @ go Fdedl # @@ F@ F RAe safrdy quai & aep F@ 1 59, 1 gar
=T |

1. Sulbhakars / geeTehI
2. Aryabhatta / Kot HCC
3. Bhaskara / #TERT

4. Brahmagupta / STeTa[d

Correct Answer :-

« Sulbhakars / FedThT

43) Three cubes each of edge 4 cm are joined end to end horizontally, then the lateral surface area of the resulting cuboid is: /
49 RPRT are et w1 sifaw g Afas w7 @ 3 ge ¥ o aRom o ard A awe ¥

1. 120 em?/ 120 2

2. 150 cm?/ 150 32

3. 128 cm?/ 128 ¥ai2

4.95 cm?/ 95 a2

Correct Answer :-

+ 128 cm?/ 128 ¥eh2

44) Which of the following is an example of a cubic polynomial? /
fFfaf@d & & Fl-a1 o qgUg F1 v Jawr 87

1. X543

2. x%2+x

3. 3+x

4, x*+x3

Correct Answer :-

o X3+x

45) describes steps or a set of do’s and don’ts to a method or strategy. /
T A a1 Efa & o a1 de F F v A€ w1 oI FT ¢
1. Technique / ddele

2. Tactics / gﬁ?
3. Method / faf&

4. Approach / 3UTITH

Correct Answer :-

o Technique / Teheiteh

46) The equation of line passing through (2,3) and parallel to x-axis is .



39 3@ &1 FHERIOT g, S (2,3) ¥ BT TR § AU x-37&T F FAWAK gl

47) The respective positions of three friends A, B and C are (3, 2), (6, 5) and (9, 8) respectively. What does the three points joined together make? /
e At A, BTa C ¥ Wafta Te FA (3,2), (6, 5) 3R (9, 8) ¥l At Reg v W eaw w4 F=neh §2
1. An obtuse angled triangle / T JfAepor ﬁHGT

2. A line segment / Te ¥4 WS

3. An equilateral triangle / U&b gHaTg Ay
4. A right angled triangle / T DI ﬁ'ﬂ,\_ﬂ

Correct Answer :-

« Aline segment / T& W1 TS

48) One among the below does not belong to creative behaviours and that action verb is ./
7 # 9F WACAF ITER & Hegy A e § 3R a§ Sraens TR &l
1. reconstruct / g?r:i?mﬁw

2. design / FieheT

3. compare / el
4, alter/qﬁﬂé?f

Correct Answer :-

« compare / el

49) The radius of a circle whose circumference is equal to the sum of the circumference of the two circles of diameters 36 cm and 20 cm is .
wF ga @ B 2, Sradr aRfer 36 deft aur 20 ¥oft =arw AT & gEl A RN F AT F TR T

1. 56

Correct Answer :-

e 28

50) Three-dimensional topology is a branch in mathematics which is more related with ___./
et smars wifeu e (@aarst), 1foa # v ararg ¥ fs wafa Bl

1. Biotechnology / ota Utafareht

2. Economics / 319IME

3. Chemistry / {THIIA IEGIGH

4. Physics / #ifae faema



Correct Answer :-

« Physics / M e

51) The major aim of mathematics education is: /

e fRvam &1 woT@ 3T §:

1. Preparing for competitive exams / afaeft adreT3ii & forw =y aear

2. Mathematisation of the child's thought process / I &Y f=IT UfshaT &1 a1foTcepToT
3. Solving problems /l;m"ra?rgaam

4. Improving computational skills / FITOTATCHD hieTel H FUR AT

Correct Answer :-

« Mathematisation of the child's thought process / a=d &I faaR gforam &1 TfoT IR T

52) ‘Micro teaching is a scaled down teaching encounter in class size and class time’ was stated by: /
TS FRRTOT, FaT & ITHR 3 Far F wHT A Meordos fregaare’, 58 F @RI Far 4Tl
1. Piaget / TOarar

2. D.W. Allen / 3136y, Teld
3. Gagne/?ﬁ?f
4. Bruner / s}

Correct Answer :-

. DW. Allen / 81.3¢c, Toled

53) Which of the following is considered as the most suitable approach in mathematics curriculum organization? /
frafaf@a & & Fd afa wgaws sgavw # waw 3UYFT TfCHOT AT AT B2

1. Psychological / FAATAS

2. Topical / aHARE

3. Unitary / UdlcHD

4. Spiral / @O

Correct Answer :-

« Spiral / G

54) Which of the following is related with Cognitive Domain? /
PAfRf@a & § Fi9 daeeAs a7 F Feita §2

1. Valuing / TIEE?EH

2. Applying / ©ITI] BIAT

3. Receiving / I&UT AT

4. Responding / gfafrar &ar

Correct Answer :-

* Applying / o[ &



55) Which of the following aim of teaching mathematics help the individual to become self-reliant and independent? /
afoa T & Arfaf@a 3qgeal # ¥ Fla @1 3527, =@fFa #t wrenfn ik Faad a9+ 7 #gg Far
1. Disciplinary / JRMHATCHER

2. Utilitarian / 3g@aft

3. Cultural / HRFPHId®
4, Social / FTATTSIH

Correct Answer :-
« Disciplinary / 3JHATcHD

56) Item analysis is a quality assessment strategy to prepare ./
He fadwor AR B H F¢ T JorawT geaion oI 1

1. Question bank / U5 CCi

2. Evaluation / Hgaiehet

3. Examination / GR1&TT

4. Student performance / BT UG

Correct Answer :-

« Question bank / U d&

57) Express 486 as a product of powers of prime factors. /
486 1 AUTSY UIH] & °Td &b TUHHT & & § g 1|
1.3%

2.12 x 53

3.21x 3

4.53x2

Correct Answer :-

o 21x35

58) Jeevan fills a wall in his room with the photos he took. The size of a photo is 21 cm by 18 cm. If he uses 6 photos, then what is the area of the wall?

/

SHaT A 3T FHY DI Th AR DI WY gRT ot TE aER] & W 311 Th d& iR &7 3ThR 21 A x 18 A 21 T 98 6 TR} BT SUGNT &l §, df SR
BT &A% fpaT 82

1.2068 sqcm / 2068 A
2.2268 sqcm / 2268 TIRAN
3.378 sqcm / 378 TIT WA

4.2334sqcm / 2334 GO

Correct Answer :-

e 2268 sqcm / 2268 TA

59) Area of a quadrilateral ABCD is 35 €M The length of the perpendiculars on its diagonal BD from A and D are 3 cm and 4 cm respectively. Find the
length BD. /

TGy ABCD &7 &t 35 T2 21 A 3 D | 39F fqhul BD WX &a &t daTs svu=r: 3 A 3R 4 I 81 BD F waTs F1d B
1.10 cm/ 10 93t

2.15cm/ 15 @3



3.25cm /25 @i

4, 12cm/ 12 |

Correct Answer :-

« 10cm/ 10§

60) ppx® —3x+ 2isafactorofx4_px2 * 9 then find the value of ’ and 7 /
af xt—px? g e ¥ -3+ 23 @ P 3R 1 H a B

1.]r):5,ql =4

2lp:4,q =3

3.p=2,q =1

4.p=3,q =2

Correct Answer :-

p=5,q=4



